ver. |

== jnterbeds

== SAFE & PLAY

HILTON O

LT




2/9

HILTON O1

22

M6x60 X2
N40 @mmm) z G34 D
M6x30 x18 4mm X1| 3,5x16 x4
N30 @mnmw N20 @\W““““‘mmm‘ )
M6x15 X8 M6x65 X16 | 87x60 x4




3/9

HILTON 01

M6x30




6/

zZ
<
o0 N
x (@)
3]
&)
B
g
=)
X
N
<
o
X
o
o

09%.8 | QX

L0 NOLTIH




5/9

HILTON 01

M6x65 X8




<

6/9

L0 NOLTIH




7/9

HILTON 01

- B
° °
- -

/




6/8

gIxXg‘'c | ZX

X

L0 NOLTIH







1 1 Hilton 01 P




INSTRUKCJA ASSEMBLY
MONTAZU MANUAL
Stelaz GALAXY BOX GALAXY BOX frame
28 listwy 28 slats

1.1 - 2 szt.
| a o a o

_ _ 5 - 28 szt. Q@)})))
)))
H )))))))))))))))))))))))))))))
1.2 -2 s7t. H U\
A : 2 |s-452t
2 - 2 szt 6 - 14 szt. 9 - 24 szt. |10 - 8 szt.
34571 11 - 5szt.
/
[oo
7%
\ 12-4szt. |13 -24 szt
RS
4 - 28 szt. ‘
16 - 1 szt.

14-;% 15 - 1 szt

—













